INTERMEDIATE EXAMINATION — 2021 (ANNUAL) 326

Model Set

Time :- 3.Hours 15 minutes LA Full Mark - 100
I8 : 3 °©e 15 fAAe ot — 100

Economics (OPT)
Jefare (Ufee®)

Gl YAl D H=T — 100 + 30 + 8 = 138

Total No. of questions — 100 + 30 + 8 = 138

geEnefal & fory faeer —

Instructions for the candidates :-

1.

TRIeTTef TATHHT SO IeaT H B SN G |
Candidates are required to give answers in their own words as far

as practicable.

qIfeN IR BRI W &y U ofd gunies fAifde a=d 2|

Figures in the right hand margin indicate full marks.

SN < HHT G AT Iee—HHT BT T N |

While answering questions, candidate should adhere to the word

limit as far as practicable.

9 U UH Dl FMYdD Ugd @ forg 15 e @1 faRed wwa faan
T |

15 minutes of extra time has been allotted for the candidate to
read the questions carefully.

S -9 @ G TUS B : GUs—3 Ud EUe—q |



This question paper has two sections : Section-A and Section-B.
WUS—3 H 100 IS WeH B, O H & fh=sl 50 WAl @& SR oT
Afarl @ (U® ueH & faw 1 3fe MuiRa B) | 50 ueei & fds &

SR T oM @ Rafd & uegm 50 SR &1 & e fdar SR |

TS gedl & FEl IR B U w1 OMR-— ¥ie (SR u3)

# I T |8 gd H drel /A dfd U9 9 sifdd | B N geR @

@SR /TR e /&els /AEd 3N &1 OMR e § YANT HRAT A1
2, JTgAT TRIETT URvIe =T 81T |

In Section-A, there are 100 objective type questions out of which

it is compulsory to answer any 50 questions (each carrying 1
mark). If more than 50 questions are answered, the first 50
answers will be evaluated. Darken the appropriate circle for correct
answer of objective questions with black/blue ball pen on OMR
Answer  Sheet provided to you. Do not use
Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will

be invalid.

Gug—q H 30 AYSANI 9T ©, (UP & foly 2 3 FegiRd 7) R

I b=l 15 YAl @& SR AT Aard g 39 iR wrs—49 H 8
e S g N oy v ¥ (0% u @ forw 5 o fiRa 2),
8 9 58l 4 ueal & SN <47 Sff~ard 2 |




In Section-B, there are 30 Short answer type questions (each
carrying 2 marks), out of which any 15 questions are to be
answered. Apart from this, there are 8 Long answer type
questions, (each carrying 5 marks), out-of which any 4 questions

are to be answered.

8. Pl TRE & Solagi-id IUDHRYT HI YANT YUIdAT afsid 2 |

Use of any electronic appliances is strictly prohibited.

Yus—3d / Section — A

axdf~ss 439 / Objective Type Questions

U3 GT 1 9 100 db & UAd UF & A IR fddpey fou v & 8 4

U fdbed A8 8| 37U gRT g T el fddbey Bl OMR—3Mie W frfed & |
gl 50 UeHAl & IR < | 50 ULl 9 3Mf¥d & Iax Ry M @ Reafa # wem 50
ITRI BT B Jq&THA fhaT SITeT | (50x1=50)
Question Nos. 1 to 100 have four options, out of which only one is
correct. You have to mark, your selected option, on the given OMR-Sheet.
Answer any 50 questions. If more than 50 questions are answered, the first

50 answers will be evaluated. (50x1=50)

1 srefergeen &1 aifigd fHar S \adr a—

A. oTare] srefergeern # B. WHTSTaTl fefegavern |
C. M3 srefeawen § D. g8 & @t

Economy may be classified as-



A. Capitalist Economy B. Socialist Economy
C. Mixed Economy D. All of these
"IIYTS T BT THITA B | fhas Har?

A 2 B. &I

C. Jife=a D. AR

Who said “Economics is the Logic of choice” ?

A. Hicks B.Keynes

C. Robbins D. Marshal

I9 I BT A I S BT <2 BT e FHRIT qeIar B
A. TRTd d%h B. 1T g%

C. SR ash D. ST HHTI-T dsh
Mention the name of the curve which shows economic problem of
a country.

A. Cost Curve

B. Demand Curve

C. Indifference Curve

D. Production Possibility Curve

SUHIGT SIGER BT A+ fhar Srar 8 —
A. &R e H B. au® 3refeme H
C. 3 g # D. SH | &I 2l

Consumer Behaviour is studied in-



A. Micro Economics B. Macro Economics

C. Income Theory D. None of these

Ul gRIY FSHT U TR @ 9l YANT {HAT ST &, Beardl o—

A & IY B. RIMMG= a&y
C. IRMaTH qIGU D. 579 | ®Ig T8l

Goods which can alternatively be used for each other are called-
A. Complementary goods B. Substitute goods

C. Comfort goods D. None of these

Rt aegatl & foTg @|a AT &1 o8Il 8—

A. RUTHSD B. ¢HTcH®

C. I D. s ¥ &®Is 2l
For Giffen goods price elasticity of demand is-

A. Negative B. Positive

C. Zero D. None of these

TPl IATeT hold A H & P Hefdd 87

A. AT @7 e B. uRa<ieiliet srgurai &1
C. ¥M @& ufdha &1 | D. AT &1 <=

Which of the following is related Short —-Run Production Function?

A. Law of Demand

B. Law of Variable Proportions



10.

C. Law of Returns to scale

D. Elasticity of Demand

ferferRaa & & d9 Rer amra 81 €7
A. 95 P71 N B. =TT
C. Bed AT dI AT D. Hag! &1 b

Which of the following is not fixed cost?

A. Insurance Premium B. Interest

C. Cost or Raw Material D. Rent of the factory
Ao’ AR T —

A. 3R B. &

C. S D. 3T

‘Micros’ word is -

A. Arabic B. Greek

C. German D. English

I BT Bl THN HIF Al 87

A. AT BT sree B. |l BT HRIATH SUIR

C. anfdie faerd D. Swda w1

Which is the central problem of an economy?

A. Allocation of Resources



1.

12.

13.

B. Optimum Ultilisation of Resources

C. Economic Development

D. All the above

SUATRIAT T TToaresd g’ fod- g fear?

A. ATeiet B. Uiy
C. fead D. dRIera

Who gave the ‘cardinal concept’ of utility?
A. Marshall B. Pigou

C. Hicks D. Samuelson

BB & g H gig 81 A A P AT

A 93 2| B. Tedl 2|

C. Rer Tl £ | D. s7H & &I 7l |
With the rise in coffee price, the demand for tea-

A. Rises B. Falls

C. Remains stable D. None of these

3R aEGRll & ART & A/ Bl § —
A T B. arfifAd



14,

15.

C. 3hls I s D. s&hls ¥ &4

Elasticity of demand for Necessities is-

A. Zero B. Unlimited
C. Greater than unity D. Less than unity
RGNS Ul & 19 & Ui =R H—

A. I 3R ST ITe &F1 9ol o |
B. AT ScUTe 95 & |

C. 3fa Sedre MRar 2|

D. ¥ IceA I BT & |

In the first stage of Law of Variable Proportions -
A. Both Marginal Product and Average Product rise
B. Marginal Product rises

C. Average Product falls

D. Marginal Product is zero

IATET H gl & AIT—HT fol AN Ud fHol ReR AR BT 3T<R—

A Rer gar g1 B. gl g |

C. gcdl 2 | D. gcdi—agdr ¥&dT 2 |



16.

17.

With the increase in production the difference between Total Cost

and Total Fixed Cost -

A. Remains constant

B. Increases

C. Decreases

D. Both increases and decreases

N ON (N [N

frfoiRad & fw IR qem # AT SIFH IR 3ffal RoTHd 8l

AHdT §°
A. THTEHR B. THIEraRT Ufcrarar
C. AR B gHi D. gof gferanfirar

In which market Marginal Revenue may become Zero or

Negative?
A. Monopoly B. Monopolistic Competition
C.BothAand B D. Perfect Competition

Qe Age o feiRad # @9 A1 Afadt 287

A. B A AR Bl ArTa f
B. W\ 31mH 3R I orrd afa

C. A 3R B gl



18.

19.

D. 578 & &g &

Which of the following is a method of Producer’s Equilibrium?

A. Total Revenue and Total Cost method

B. Marginal Revenue and Marginal Cost method

C.Both Aand B

D. None of these

T IToTR & SfAd STTH deh X-37&] & FHIN BIdl 27
A. gui ufcranrar B. TaIEIGR
C. THIIeRY uferanfirar D. 9% 9 94

In which market Average Revenue curve is parallel to x-axis?

A. Perfect Competition B. Monopoly

C. Monopolistic Competition D. All of these

gfcf @1 B BT RO § —

A- ITTET AT 1 gfg

B. MG~ a3l &I DAl H B

B. Sel # ®Al B G&=1 § HH)

D. 79 ¥ &I

The reason of decrease in supply is-

10



20.

21.

A. Increase in production cost

B. Decrease in price of substitutes

C. Decrease in the number of firms in the industry

D. All of the above

f=forRag 5 9 dI9—1 B9 Tal 27

A. TG & D Ga IF@ it & dra Her G ST 2
B. gftf 9% 91 ¥ S SWR T 3R I B |

C. gftf @1 eme T wifad v 2 |
D. s & &+
Which of the following statement is true?

A. There is direct relationship between price of a commodity and

its supply.
B. Supply curve rises from left to right.
C. Supply is affected by many factors

D. All of these

S HId | oflel |1 uRadd 89 W Yfd H SaraeT gig 8 S ar gfd @1
HT BRI—
A. dEER B. Sd@ER

11



22.

23.

24,

C. gl deReR D. quf Jar=eR

When supply increases more as a result of small increase in price,

the nature of supply will be-

A. Elastic B. Inelastic

C. Perfectly Elastic D. Perfectly Inelastic

iR Retfa R a¥g &1 dael T& HaT aidr 8—

A. TBIEDHR B. AFar

C. gaIfaeR D. 579 9 ®Ig T8l
Market situation where there is only one buyer -

A. Monopoly B. Monopsony

C. Duopoly D. None of these

UHITPR IroiR fed geriar 87
A. ITEA Ufhd B. fad=or yorred)
C. 9T9IR Uehfd D. 9 ¥ &I gl

What does monopoly market show?
A. Production process B. Distribution system

C. Nature of market D. None of these

SHrAd FERe gihar 4 G99 dwd’ &1 AR fea uwgd fear?

A. Rarst B. e

12



25.

26.

C. |19 D. 9 & #gdl

Who gave the concept of “Time Element’ in price determination

process?
A. Ricardo B. Walras
C. Marshall D. J K mehta

= # @ P THITBR BH & el DI o 81 © 7
A. 3 IANTH = HAETT AT

B. ¥4I 3MTH = AT @Td

C. ¥ &RTd @ WA 3IH a5 ®I Al 9 Hied! © |

D. B 3R C i

Which is not a condition for equilibrium of a Monopoly firm?

A. Average Revenue= Marginal cost

B. Marginal Revenue = Marginal cost

C. Marginal Cost curve cuts Marginal Revenue curve from below
D.BothBand C

gt uforfraT § wi —
A g o1 FaiRa o 21 B. & &7 WdR Bl 2 |
C. A 3R B g+t D. 398 & &g &1

13



27.

28.

29.

In Perfect Competition, a firm-

A. Determines price B. Accepts price

C. Both Aand B D. None of these

e drad FaR & = § B9 9 ueh 87
A. T B. Hoig¥l
C. D. 9% 9 94

Which of the following is component of factor price determination?

A. Rent B. Wage
C. Interest D. All of these

R IART & oy =FAaH AT e’ /1 § & B 27?
A dHd FETE 9 B. &Hd STadd AmEm
C. A 3R B gHi D. 398 & ®Ig &l

For agricultural product which of the following is ‘Minimum Support

Price’ ?
A. Price Floor Limit B. Price Ceiling Limit
C.BothAand B D. None of these

IHX T hl C)Cbl?'qcb 1H %-
A. i orTa B. Wde 4o
C. =T orTd D. 3f9d <mTd

14



30.

31.

The alternative name of Opportunity cost is -

A. Economic cost B. Equilibrium price

C. Marginal cost D. Average cost

TPl IATed DI <1 # TP fAddpoflial Saesd fhag omawenm #

SAUIgd hNHAT UH<Q CbWII?
A. UYLl B. fg<ig arazern

C. T srawer D. 579 | ®Ig T8l

In which stage of production a rational producer likes to operate in

short-run production?

A. First stage B. Second stage

C. Third stage D. None of these

‘M e’ &l f=ferRad § 9 o9 W Syfrar 87
A RGBT e HAifea &1 fA|ior B. anfefe fawra

C. IR Iy D. 579 & |
Which one of the following is the utility of ‘Macro Economics’?

A. Formation of Government Economic Policy
B. Economic growth
C. International comparisons

D. All of these

15



32.

33.

34.

TP AT’ & If=id foIRad § I A 87
A. IR<fddH Yarg B. Aifg® yare
C. A 3k B gHi D. 399 ¥ &g w8

Which of the following is included in Circular Flow?

A. Real Flow B. Money Flow
C. Both Aand B D. None of these

Th ol 9y H BT 92 o1 'xel A H 9T Iauresdl gRT A A

RN AR FAIAT BT IUTEH BT 8, AP AR BIAT & AN DI HET

ST 8—
A. GDPyp B. GNP
C. NNPyp D. 379 & ®is A8l

The market price of all final goods and services produced in the
domestic territory of a country in a year is known as-

A. GDPyp B. GNPyp
C. NNPyp D. None of these

o & f=feRad & &9 9 g 87
A. TTeT B. arfaRad o
C. oy & &) D. Suad |4

Which of the following is a component of Profit?
A. Dividend B. Undistributed Profit

16



35.

36.

37.

C. Corporate profit tax D. All the above

g &F S Uh a%g DI g # uRafiia &rar 8, dEdmar & —

A. T &= B. fgdias &=

C. g & D. T & P T

The sector which transforms one good into another is known as -

A. Primary sector B. Secondary sector

C. Tertiary sector D. None of these

/1 94 9 &9 war 87
A- TITIST 3T = AfdTd ST - UIe] X
B- TSI MY = Aol M - g¥el o

C- IS 3 = T 3 - 3Ue] PR
D. TSy Mg = ol 3 - 3ucyel oy

Which of the following is correct?

A. Disposable Income=Personal Income-Direct Taxes
B. Disposable Income=Private Income-direct Taxes
C. Disposable Income=Personal Income-Indirect Taxes

D. Disposable Income=Private Income-Indirect Taxes

ISl & e @1 gfg e 8 —

17



38.

39.

40.

A. 9ol g™
C. goir foraior

B. goil o4
D. 374 & &g &I

Increase in stock of capital is known as -

A. Capital loss

C. Capital formation

B. Capital gain

D. None of these

fgda® & d - Jare affafera € ?

A &

C @R

B. dfdp
D. fafersior

Which of the following is included in Secondary sector?

A Insurance

C. Trade

GNP 3awmidd =

Ths GNP
qreafae GNP

C. A 3R B aFI

A. X100

GNP Deflator =

A Nominal GNPX 100
Real GNP

C. Both Aand B

B. Banking

D. Manufacturing

Jhs GNP
qreafde GDP

D. 398 ¥ ®Ig &l

x 100

B. Nominal GNP x 100
Real GDP

D. None of these

ol & Wfde 3R TATHD Bl BT faurer fbas faar?

A. TR foer

B. dfer U



41.

42.

O INK D. 379 & ®ig &l

Who classified Static and Dynamic functions of Money?

A. Ragnar Frisch B. Paul Einzig

C. Marshall D. None of these

Ui @ AR R T BT ai 1RO 5—
A. fafomga ga1 &R Ufeed qat B. ar<fas qaT iR e gat
C. &1q HaT 3R Ui HqaT D. 379 9§ ®Ig 8!

On the basis of nature Money is classified as -
A. Legal Tender Money and Optional Money
B. Actual Money and Money of Account

C. Metallic Money and Token Money

D. None of these

oF—<d & folg Ha1 @ AFT 81l § —
A. 19T & 9 deR
B. 5T & Ufd delleR

C. A 3R B gHf

D. 378 & ®Ig &

19



43.

44.

45.

Demand for Money for Transaction motive is-

A. Interest Elastic B. Interest Inelastic
C. Both Aand B D. None of these
ST BT 9% B 272

A. RS b B. &g ¥

C. el A 3R B D. 579 9§ ®Ig T8l

Which is Bank of the public?
A. Commercial Bank B. Central Bank
C. Both Aand B D. None of these

IR® o =feRag ¥ fod UdR & o1 < 87
A. FHe Ag B. srfarfasy

C. vl Uq 31fH D. 9% 9 94

What type of loan is advanced by Commercial Bank ?
A. Cash credit B. Overdraft

C. Loans and Advances D. All of these
9% ® ¥ gfg gae 3—

A. |& g1 Hifd B. &gl gar Aifd

C. URg &7 R D. B 3k C gl

20



46.

47.

Increase in Bank Rate indicates-

A. Cheap Money Policy B. Dear Money Policy

C. Expansion of Credit D. BothBand C

B b T B IUAAT Bl 9T Fbdl 28—

A. JFERIE SR dgTdR B. ufd griediE ggrax
C. IR ufayfadl @dig &R D. WR&RI yfayferdl dae
The Central Bank can increase availability of credit by-

A. Raising Repo Rate
B. Raising Reverse Repo Rate
C. Buying Government Securities

D. Selling Government Securities

ffraer & FuRe gcd o 9 87
A. USiT &1 AT ear B. TS &1 &%
C. 3Mi A 3k B D. g9 9 &®Ig 8l

What is the determining factor for investment?

A. Marginal Efficiency of capital B. Interest Rate

C.Both Aand B D. None of these

21



48.

49.

50.

DI [IIRYRT & =Hd 3 & Al &1 MuRe F=falRaa H

DI 8?
A. aHfed FiT

C. AR B cHI

B. @rffe® gl

D. 7% 9 ®I8 81

Which one of the following is the determining factor of equilibrium

income in Keynesian Viewpoint?

B. Aggregate Demand

C. Both Aand B

o Bl Fad fBar ST Fadl o—
A K==
Al
C.K=1-8
Multiplier can be expressed as-

AK=2
Al

C.K=1-8
JRBIAD TRTel AT B—
A. =T | DI

C. qof ISR @t

B. Aggregate Supply

D. None of these

_AY
B.K=2
D. 379 9 ®Is 81
B K=

I

D. None of these

B. amferaa AT &f

D. 398 & ®ls &l

Deflationary gap shows the measurement of-

22



51.

52.

53.

A. Deficient Demand B. Surplus Demand

C. Full Employment D. None of these

IR dh b IA~ B8 b FforRad d I F HRIT &7

A. JamIfad T2y B. Wifds T9mi

C. A 3R B i D. 379 & ®Is &l

Which of the following causes the appearance of a Trade cycle?

A. Deflationary Conditions B. Inflationary Conditions

C. Both Aand B D. None of these

fafeer sefemeal o w7 @ @ gRe T ORa AN fhd ay |

ThTIRIT 88?7
A. 1926 B. 1936
C. 1946 D. 1956

British Economist J M Keynes’ famous book, “The General

Theory” was published in which year?

A. 1926 B. 1936

C. 1946 D. 1956

Hemar b Iy g ofi?

23



54.

55.

A. 1949 B. 1939

C. 1930 D. 1919

What was the year of great Depression ?

A. 1949 B. 1939

C. 1930 D. 1919

B & U DI B § dd UHIAT B 37
A. A= god ggfa B. WM SUMINT g

C. A 3R B g D. 399 9 &g a1

Which of the following is determining factor of Keynesian
multiplier?

A. Marginal Propensity to save

B. Marginal Propensity to consume

C. BothAand B D. None of these
faffeg e & f=feiRad 4 @9 9 w9 87

A. Rer faffmg &R B. drereR fafHa &
C. A 3R B i D. 579 | ®Ig T8l

Which one of the following is a kind of Exchange Rate?

A. Fixed Exchange Rate B. Flexible Exchange Rate

24



C. Both Aand B D. None of these

56. qoic & ducd fA=ferRad § &I 87

A. Iqic yfaar B. 99 &g

C. A 3R B g D. 599 | &g g

Which of the following is a component of Budget?

A. Budget Receipts B. Budget Expenditure

C. Both Aand B D. None of these

57.  fAfoRead § 9 ®F A1 WROR & YOI g 57
A. ST BT YT B. ¥&™ &I %Y

C. 79 &Y D. 9% 9 94

Which of the following is Capital expenditure of the government ?

A. Interest Payment B. Purchase of House

C. Expenses on Machinery D. All of these

58. yrIfid °9rc &1 el |19 T 87

A. ISTHIYRI GO °Te]

B. IS4 gTec—=a15 &1 HIdlA

C. JISTHIEII ©TET —=TSl Bl YT

25



59.

60.

D. YSivTa &g — o1 Y

Which is the correct measure of Primary Deficit?
A Fiscal Deficit-Revenue Deficit

B. Revenue Deficit-Interest Payment

C. Fiscal Deficit-Interest Payment

D. Capital Expenditure-Revenue Expenditure

IR Al H DIF A 7 aidferd § ?

A. 353 AS B. Yoil 3Rl

C. 339 wq D. g9 & |

Which items are included in Balance of Trade?
A. Invisible Items B. Capital Transfer

C. Visible Iltems D. All of these

71 % | o 91 @ & FEeH 77
A. o Gelg SfaRor B. &R Hiq

C. yager faer D. S99 | ®lIs 78]

Which of the following is component of Capital Account ?

A. Unilateral Transfer B. Official Transactions

26



61.

62.

63.

C. Direct Investment D. None of these

fhdd SITAR AARA AT BT BT [Iem’ &7

A. weid B. ARt

C. 9. w9 fad D. veq ¥

According to whom, ‘Economics is a science of human welfare’?
A. Marshall B. Samuelson

C. J S Mill D. Adam Smith

it frart S sma giTd et € —

A. IR anfdie fohaml weardl 2| B. amfdfe fham weermdl 7 |

C. fafera fbart et €| D. 379 & Bis &l

All activities which generate income are known as -
A. Non-Economic Activities B. Economic Activities

C. Exchange Activities D. None of these

= & 9 fod amaR w1 ) anfie ARl &1 e Wl 27

A. /AT ImaeIHdry B. Wiffd arM

C. A 3R B g D. 399 | &g 781

27



The structure of economic problems rest on which of the following

piilars ?
A. Unlimited wants B. Limited Resources
C. A and B both D. None of these

=1 & 9 P9 91 HUF IE T 27

A. i AR AT B AT B |
B. @d Guy A3 srefeygwer &) fasivdr 2 |

C. FAIATE] 3rfeasel H faarfiar @ srguRerfa gl 2 |
D. ST @ 3a¥R AN Aa9s Ihfeud Hed & |

Which of the following statement is incorrect?
A. Economic Problem is the problem of choice.

B. Price Mechanism is feature of Mixed Economy.
C. Absence of competition in Socialist economy

D. Opportunity cost of a factor is the best alternative price.

=1 & 9 P4 A1 HUF IET 87

A. SUAIRIET @1 etk smaTIdar @ Aqfic e 7|

B. SuAfRrar 28T &1 digdl &7 Bold 2 |

28



66.

67.

C. %] & SUHINT &I 2T ITAAAT BT T <<l 2 |
D. 3¢ & @Y

Which of the following statement is true?

A. Utility means want satisfying capacity.

B. Utility is a function of intensity of desire.

C. Desire of consumption gives birth to utility.

D. All of these

STd el YT SAferepad gl 8, a9 i Suaifiar —
A. gTHS BT B | B. FTH® BT & |

C. 3= &l 2| D. s @ B¢ T

When Total Utility becomes maximum Marginal utility is -
A. Positive B. Negative
C. Zero D. None of these

T9 X %] B DD BT IR Y I& B AW DI YAIAT HRaAT B, T4
g JI Pl Al AR & —

A. DHHET 7T BT A B. 3y HIT &Y o

C. foRe! 717 &1 dre D. g9 | |

29



68.

69.

When change in the price of good X affects the demand of good Y,

the demand is called -

A. Price elasticity of Demand

B. Income elasticity of Demand

C. Cross elasticity of Demand

D. All of these

A aG3ll & g o g —

A. I Bl 2 B. &FTHe BT T |

C. UTA® Bl 2 | D. 579 ¥ ®lIs =1

Income Effect for normal goods is -

A. Zero B. Positive
C. Negative D. None of these
IS ash —

A. 9o fag 1 iR I=dIex BT 2|
B. qof favg @1 IR *ra=arex gxcfl 2|

C. A 3R B g D. 399 ¥ &g 781

Indifference curve is -

30



70.

71.

72.

A. Convex to the origin B. Concave to the origin

C. A and B both D. None of these

o= 5 @ fbd 917 96 b1 TRTel g’ AT el ST 2 |

A. ST 71T 9% B. 3fTS! AT dsh

C. ¥ H[ T g% D. S99 ¥ ®lIs 78]

Which demand curve is also known as ‘Engel’s Curve’?

A. Price Demand curve B. Cross Demand curve
C. Income Demand curve D. None of these
SIGIRESRUCEE

A. TP, — TP(1) B.

c D. A 3k B <1

Marginal Product =

A. TP, — TPy B. =~
C. % D. A and B both
Hifed 1T =

A. gt oITd
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73.

74.

B. /U< o Td

C. W olfd + 3IRUT ITd

D. ¥ &NTd + 3IRUST ANTd + HHI ol

Money cost =

A. Explicit cost

B. Implicit cost

C. Explicit cost + Implicit cost

D. Explicit cost + Implicit cost + Normal Profit
feb%T ITSTR & AT 1 ofiel gp1s 4 3fferep 8l & —
A. ot v B. THIRIBR

C. UHIHRY ufrarfirdr D. 399 & ®Ig w8

In which market Elasticity of Demand is greater than unity?
A. Perfect Competition B. Monopoly

C. Monopolistic Competition D. None of these

gt & faeaR’ &7 3ref ' —

A. S BWa R a1fde gfif srerar &H FHHd o) Sa & gfd

B. 9% &1 Hpdl dHd W IFDI 3fed i
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75.

C. A 3R B g
D. 78 & ®Ig &

‘Extension in Supply’ means -

A. More supply at same price or same supply at lower price
B. Higher quantity supplied at higher price of commodity.

C. A and B both

D. None of these

g g W AT —

A. BT IR & HIROT BT 2 |

B. @Hd & aifaRed arg dxal # uRad= & HROT BIaT 2 |

C. gid # glg & PR
D. 379 & &I

Movement along a supply curve happens -
A. due to change in price

B. due to change in factors other than price
C. due to increase in supply

D. All of these
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76.

77.

aMfefs SH-AT & BN qi—duy g arefergwer &1 fagyar 27
A. YSare] srefegae B. {HTSTATST 31eieud=er

C. faf¥a srefeggzen D. 98 9 94

Class struggle due to economic disparities is the feature of which

economy?
A. Capitalist Economy B. Socialist Economy
C. Mixed Economy D. All of these

I FAIGAT Ieh Hd Udh GRS @[ DI AT ofdl 57

A. T 3TER R od dedl 2 |

B. M= 31q9R @NTd o9 gedl ® |

C. HAr= IR INTa oid ReR I&dT 2 |

D. s | &I gl
When does Production Possibility Curve take a shape of a straight

line?

A. When Marginal Opportunity Cost increases.

B. When Marginal Opportunity Cost decreases.

C. When Marginal Opportunity Cost is constant.
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78.

79.

D. None of these

M BT yoM oo fa= & 9 o9 a1 87

A. 97 &1 g B. Yuid Suifrar g a9

C. SUHTEIT &1 gad D. 98 99 Suaifidar fm

Which of the following is the ‘First law of Gossen’?
A. Law of Demand

B. Law of Diminishing Marginal utility

C. Consumer’s Surplus

D. Law of Equi Marginal Utility

AT 1 e gbls A Al Bl & ofd —

A 9D & 961 A & Bl I W g8 Il © |

B. &M @ d¢1 ¥ fel I FHH & I T

C. BHd & d-1 ¥ Gol & H uRaciH & 8rar 2|
D. 57 & ®1g el

Elasticity of Demand is greater than unity when -
A. With increase in price total expenditure also increases.

B. With increase in price total expenditure decreases.
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80.

81.

82.

C. With increase in price total expenditure does not change.

D. None of these

[P aTOTR H a%] & PIAd IUE b T WR WR Fqg ReR BNl 87
A. 3qof gferfirar B. gui ufcraran

C. UHIHRY uforarfirdr D. THIaR

Price remains constant at all levels of output in which market?
A. Imperfect Competition B. Perfect Competition
C. Monopolistic Competition D. Monopoly

defrer § Wi d g wfat grr PEiRa @

A. IR $HIAT 2| B. A BT T |

C. <iqer #ma 2 | D. &7 & B¢ T

Price determined by demand and supply forces in the long period

is known as -

A. Market Price B. Normal Price
C. Equilibrium Price D. None of these
TP HH BT AT I gof AR BT 8 —

A. qoi gfcranfrar | B. TawTEeR H
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83.

84.

C. TmIirerT ufaanfiar o D. rcuTfeprR ¥

Demand curve of a firm is perfectly elastic under

A. Perfect Competition B. Monopoly

C. Monopolistic Competition D. Oligopoly

“STad AAURA BT 4& I AL 37T fAgewor g 7 {5 Far?
A. 91 ot B. UA Ud WK

C. 9 difesy D. 379 & ®ig 8l

“The main tool of Macro Economics is National Income Analysis”

who said?
A. Prof. Schultz B. M. H. Spencer
C. Prof. Boulding D. None of these

fg &g srfergwer # TeI0 &1 §&9 W a1 27?
A. feraer B. WK &Y

C. ™ D. S99 ¥ BIg w8

In two sector economy which is main source of Injection?

A. Investment B. Government Expenditure

C. Taxation D. None of these
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85.

86.

87.

qTe] BT TR Fhel IS A B FHEd & —
A. arxafde GNP B. #ifees GNP

C. A 3R B g D. GNP 3awmidd

GNP calculated at current prices is known as -

A. Real GNP B. Money GNP

C. A and B both D. GNP Deflator
qegad] IUNNT BT Hee & —

A. AEF T | B. IR A™A T |

C. A 3R B g D. 399 | &g g1

Intermediate Consumption is related to

A. Factor Input B. Non-factor Input
C. A and B both D. None of these
“H&T 98 © Sl Jal &1 B X |7 I8 R« |Efod § —

A. BRITHS TRITYT H B. denfie aRyrar #

C. M= Wihfd &1 gRyreT | D. 9% & 94

c

“Money is what money does”. This definition is related to -

A. Functional Definition B. Legal Definition
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88.

89.

C. Common Acceptability Definition D. All of these
qaT & Hod 9 ARRAT q&T &l —
A. Afd® I B B. 3@ <Iv 7|

C. 9HIfSTed IV 2 | D. 9% & 94

Instability in value of money is -

A. Moral Evil B. Economic Evil
C. Social Evil D. All of these
gad AT B fa9yas € —

A. 5 Ib gRI 71 bctdrar ST Fahdr 2 |
B. ¥ f&e Hqa1 &7 317 Bl 7 |

C. 37 THIRN TR ol <X HY Blidl 2 |

D. 3% 941 |

The characteristic of Saving Deposits is -
A. They are not chequeable

B. This is the part of Near Money

C. These deposits have low rate of interest

D. All of these
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90.

91.

Do 9b & FARNYT Y8 & B Bl 1 § A =T a9 87

A. TRERE oF—< BT FUERT HH a1 9 & 8 9147 & |

B. §ol & uRwRe Wy god o & |

C. 399 ©=1g d% I AR §dl B aRelal RIfd &1 gar goar 2 |
D. 7% & 9!
Which is the advantage of functioning of Clearing House of Central

Bank?

A. It economises the use of cash by banks, while settling their

claims and counter claims.
B. It improves the mutual relations amongs banks.

C. It keeps Central bank fully informed about liquidity position of

each bank.

D. All of these

ARG Hepad ® folg —

A. wifaffre aRerar U &I TeT faar T 2|

B. Wifaf¥res TR U &l 9T a1 91T & |

C. qifaf¥re aRetar srgurd H P gRad a1 fdhar S ¢ |
D. 379 & &g T8l
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92.

93.

For Credit Contraction -

A. Statutory Liquidity Ratio is increased

B. Statutory Liquidity Ratio is decreased

C. Statutory Liquidity Ratio is not changed

D. None of these

depl H UTEd AT YR B YA o+ & ol a¥ 1990 ¥ by AT &

TS a7
A. RR¥eew afafa B. wisuiRar afdf
C. aui wffy D. 7 & @1 &l

In 1990 which committee was constituted for making

recommendations for improvements in customer service of Banks.

A. Narsimham Committee B. Goiporia committee
C. Verma Committee D. None of these
a1 T =
Az B. <
H DD
C.H=C+R D. s & &1

Money Multiplier =
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94.

95.

96.

A Y B. &Y
H DD
C.H=C+R D. All of these

g9 Dd FROMHD BIdl &7

A . C<Y B.C>Y

C.C=Y D. APC + APS =1

When does saving become negative ?

A . C<Y B.C>Y

C.C=Y D. APC + APS =1

forder S oMy TR W Wad 8idl & —

A. aRd I Fgorar 2| B. W@ryd fAder dedrdar 2 |

C. fFranfra f=raer sgorrdr 2 | D. ardfde a9 deerr 2 |

The Investment which is independent of income level is known as-

A. Induced Investment B. Autonomous Investment

C. Exante Investment D. Expost Investment

ATE QR @ AR H i Ifa & o9,
A. RS AT = RS IR B. WMfRe AT > Afes g
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97.

98.

C. 9M2® AT < 9Ffesd gfd D. s ¥ &®Is 2l

Increase in employment of factors is suitable when -
A. Aggregate Demand = Aggregate supply

B. Aggregate Demand > Aggregate supply

C. Aggregate Demand < Aggregate supply

D. All of these

oI S BT afe MPS &1 & 0.75 © |

A 2 B. s

C. 133 D. 167

Find the value of Multiplier, if Marginal Propensity to save (MPS) is

0.75.
A. 2 B. 8
C. 133 D. 167

31foN® ART I~ 89 BT 9 d§ I BI9 HROT T87 87?
A. fafsanT |k ¥ gfg
B. ¥ faIR & 41T H gfg

C. g el ude & Welawy gal gfd H gig
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99.

100.

D. Ao~ g # Al

Which is not the reason of rising Excess Demand ?

A. Increase in Investment Demand.

B. Increase in demand due to credit extension.

C. Addition in money supply due to deficit financing.

D. Reduction in Public Expenditure

= 3 9 o ey Sury’ T8 B ?

A. X B. 9rdvifie 9

C. ATdolid 0l D. 9% ¥

Which of the following is not a fiscal measure?

A. Taxation B. Public Expenditure

C. Public Debt D. Bank Rate

RISTHIYR SR & gad © —
A. I WS =1eT B. SN €TeT

C. Yo °TeT D. 9o UTAfie grer

Indicator of fiscal discipline is -

A. Zero Primary Deficit B. Fiscal Deficit
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C. Revenue Deficit D. Gross Primary Deficit

Yuvs—9 / Section-B

oY S 939 / Short Answer Type Questions

U AT 1 W 30 P g IR & | g8 I Bl 15 Ul & SR S | U”AD U
& forg 2 3 MuiRd 2| oreg | 40 | 50 ¥ % | (15x2=30)
Question nos. 1 to 30 are Short answer type. Answer any 15 questions.

Each question carries 2 marks. Word limit is 40-50 words.

(15x2=30)

1, JATG FHIGAT dsh’ D1 ATeRfT Dl BT B2 2

What is the shape of ‘Production Possibility curve’?

2. SUHIFIT el BT a1 37 &7 2
What do you mean by Consumer’s Equilibrium?

3, anfefe fopam @ 87 2

What is meant by Economic Activity ?

4, JATE BT DI qRETT ST | 2
Define Production Function.

5. HRT g o @i FRer 87 fb=gl a1 dRol &l o | 2
Why does demand curve slope downward ? Write any two causes.

6. DI R STIDBI DI HHIATS] H <R DIy | 2
Distinguish between the concepts of short-run and the Long-run

7 AR AN I T AU 27 2
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10.

11.

12.

13.

14.

15.

What is meant by Opportunity cost?
AT AT iR I T | T R 77 2

What is the relationship between Marginal cost and Average cost?
quf URRITRTAT H ST H IR AT 3IRTH ashl 1 3R DAl Bl
27 2
What type of shape does Average Revenue and Marginal
Revenue curve adopt in perfect competition?

IR & =g faRIvarsii &1 9d18y | 2
Mention the important features of market.

THITHR HR THIMIBRIHD AT & fhal g7 3Ri &I gaiv| 2

Mention any two differences between Monopoly and Monopolistic
Competition.

AT DA T 52

What is Equilibrium price?

ArEid SUARET g1 e @ 8? 2
What is Law of Diminishing Marginal utility?

ol &% &1 FERer &9 gar g2 2
How is interest rate determined?

fte 3efes IR |afte e # Bl Q1 3R &I IQERV Aled
fored | 2
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16.

17.

18.

19.

20.

21.

22.

23.

24,

Write any two differences between Micro Economics and Macro

Economics with example.
TSR 3T & ThIg YaTe o o1 v 87

What is meant by Circular flow of National Income?

AR AR R G TR SE | T AR 272

What is meant by Net Domestic Product at factor cost?
M T qAT BNl T H T 3R 27

Distinguish between National Income and Domestic Income
greifie 3R fgcfiare e # arR qarsy |

Distinguish between Primary Sector and Secondary Sector.

ThE PIY AU 3R IS TReAdT IUTd H FIT <R &7

2

What is the difference between Cash Reserve Ratio (CRR) and

‘Statutory Liquidity Ratio’(S L R) ?

SENT YgfeT &1 a7 31ef 572

What is the meaning of Propensity to Consume?
fIer Tors B gRAIRT AIRTY |

Define Investment Multiplier.

=T JT & T HROT 27

What are the reasons of Deficient Demand?

iR o™ =g F1 2°

What is Non-Development Expenditure?
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25.  UrRIf® " W F1 A 2 2
What is meant by Primary Deficit?
26. WA Aol B gR¥ET < | 2

Define Balance of Payments.

27.  Goll @ HI gR¥IYT & | 2

Define Capital Account.

28. YR Thi b GRYINT P | 2

Define Trade Cycles.
20.  HIT & g8 &1 aRwifa & | 2

Define Law of demand.

30. IS I BT qHSSY | 2

Explain Indifference Curve.

4" S 939 / Long Answer Type Questions

o WRYT 31 ¥ 38 b oId SN U & 59 DIl & UAd YT & folv 5 3

feiRd &1 fo=sl 4 Teal & SR < | Ireg AT 100—120 IS 2 | (4x5=20)

Question no. 31 to 38 are Long answer type questions. Each question
carries 5 marks. Answer any 4 questions. Word limit is 100-120 words.

(4x5=20)

31. T BT DT Al DT JAIfad B dTel dedl bl ARIT BT |

Explain the factors determining price elasticity of demand.
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32.

33.

34.

35.

36.

37.

38.

TUh BH B W W U G FHIA &7 BH b Hgad o Al bl
NREIEN

What do you mean by Firm’s Equilibrium? Explain the conditions
for firm’s equilibrium.

qui g § g b HeiRa grar 27?

How is price determined under Perfect Competition?

IR b IR0 & AERIAT H ISUHIFT & Fel Dl FHST |

Explain Consumer’s equilibrium with the help of Indifference
Curve Analysis.

TSI 3T BT IO B BT 3 fafey &1 goig iy |

Explain the Income method to estimate National Income.

U Hald §b D & DAl BT qUiH BT |

Explain important functions of Central Bank.

el B Ud 3Uce] Y H 31X 9dIgU |

Distinguish between Direct Tax and Indirect Tax.

ATR® bl & fAf=1 Bt &1 g HIfU |

Explain important functions of Commercial Banks.
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